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The Food-Mart grocery store has a candy machine like one
pictured here. Each time inserts a q ;15 di
come out of the machine. The machine initially holds 10,000
individual candies.

Part 1 - Model the data using the table and graph below.

Bart 2 - Answer the questions below. Oskbﬁ'l' d \“”
a) Is this e geometric? Explain,
=l s o b orm,
b} State the com difference gr common ratio - i

0= g+ (0D
R3=FST+(30-1)(-15) = 955D

e) Extension: To avoid theft, the manager of the store takes all the money out when there is $25
in the machine, How many candies are in the machine after $25 has accumulated?

Ry %% |oo custvers
O =T+ (0 Y-)= 77
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Justin Biebor is a massive diva and requires his concert tickets to
8, be SUPER EXPENSIVE and at least at a price of $100. His current
- «concart ticket prices ara at $50 par ticket. His managemant staff
and the venue staff decide to compromise and increase his ticket
‘ pricas by 10% for avary concart ha plays.
%, =l |
\(O/ =1
tickets. If

Use the table to the right to display the prices of Bicber's concert

necessary,
round to the nearest penny. Hint: To find the next term, you want the original 100%

hus the additional 10%.
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State the common difference o com: ! 2 { i
5 m‘ [ B - (‘S;Sg)
<) Write the explicit rule M{; g {,{,05_?
0= SO (1) 5 G 705

1 335%

.\aw will the ticket prie mr&;—jﬂ)rl ;«m Usa the formula from part (2}

So(1) .90

} How much will the ticket price: behsd:g 15* concent? Use the formula from part (c).

ce,g 50(()““ ﬂmm

Eoncens w IN4|’DeMrJ|h| s demanded $100
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Complete any missing homework assignments



